
Manual nr 15023538 Rev 00 
Loyds Industri AS 2023-02-28

SMARTFLOOR 2020
VW T6 D-Cab 

Installation Manual 



2

Contents

		

Left hand side
Right hand side
Left and right hand side

RH
LH

L&R
With heater



2

Revision Record
Rev nr Date Page Picture Update New Deleted 

steps

Tools

Recomended attractrion moments screws:
					     4,2mm Selfdrilling:	 3,6 NM 
					     6mm: 			  6 NM
					     8mm: 			  10 NM
					     10mm: 		  42 NM

10,13 mm

10,13, 16, 17 mm Bits
PH2
T20
T25
T30
T45

12-kant 10 mm



3

15022550_A Kit Complete T6 D-cab SF2020

15023497_A Floor Kit  T6 D-cab SF2020

Item Quantity Part Number Description
A 1 15022501 Rear Drawer RD W1140 L1200
B 1 15023497 Floor Kit T6 D-Cab SF2020
C 1 15022552 Steelbracket Set T6 D-Cab SF2020 Long

Item Quantity Part Number Description
B1 1 15022554 Front Floor 9mm T6 D-cab SF2020
B2 1 15022557 Floor Left T6 D-Cab SF2020
B3 1 15022556 Floor Right T6 D-Cab SF2020
B4 15022757 H-profile 9mm L=1596
B5 15023495 Floor Extend Right Veh wo Heater T6 D-Cab SF2020
B6 15014503 Front Air Circulation Angle T6 D-cab
B7 15022754 U-profile 9mm L=1260

15023496 Fitting Kit Floor Set T6 D-Cab SF2020

Approved  by LOYDS Loyds 
SAR

Approved  by customer
Gen. Tol.: Loyds MS 001

Sheet thickness: Material: Colour:Weight:

23456

Approved by LOYDS Loyds IndApproved by customer
Gen. Tol.: Loyds MS 001

A

B1

C

B5B7

B

B2

B4

B6

B3



4

123456

A A

B B

C C

D D

Drawing number

Approved  by LOYDS

Revision

Loyds Industri AS

Creation date Designer / ConstructorProject

Description

SARPSBORG
Approved  by customer
Gen. Tol.: 

ISO 128

15022552

EGL24.11.2022

Loyds MS 001

Smartfloor 2020

Steelbracket Set T6 D-Cab SF2020 
Long

 
Drafter

Sheet thickness: 
 

Material:
 

Colour:
  
Weight:

15014509 Kit Complete T6 D-cab Se w Heater

C3
C6

C2

C5

C5

C5

C5

C7 C8

C7

C4

C4

C4

C4

Item Quantity Part Number Description
C1 1 15018443 Bracket Lower Rear Middle T6
C2 1 15021172 Bracket Lower Rear Right T6 ASSY
C3 1 15021171 Bracket Lower Rear Left T6 ASSY
C4 5 15020618 Bracket Latchcup Side M8 T6 ASSY
C5 4 15020617 Bracket Veh Floor Short Latchfix T6 ASSY
C6 1 15018460 Bracket Latch Inner 8mm ASSY
C7 2 15023492 Bracket Front T6 D-Cab SF2020 ASSY
C8 1 15023493 Angle Front T6 D-Cab SF2020

1 15023494 Fitting Kit Steelbracket Set T6 D-Cab SF2020

C1

C4



5

Item Quantity Part Number Description

E1 1 15009441 Handle Tube 25x15x286

E2 2 15009442 Spacer Ø8,3x18x30 Nylon Black

E3 2 15009443 Spacer Ø8,1x13x6mm Galv

E4 2 15009444 Screw M8x50 Cylinderh Hex

E5 2 8 NMU Mutter M8 Nyloc DIN985

E6 2 8,4x17x2 M8 Washer, DIN 125

E7 2 15009438 End Plug Tube 25x15 Inside

15010236 Handle Assy

E1

E3

E6

E7

E6

E3
E2

E5

E5

E4

E4

E2
E7



6

Fitting kit
F2

F11

F3

F12

F4

F1

F10

F7

F13

F18

F8

F16

F9

F15F14

F5 F6

15006240
Plastic Cover Latchcup VW 2012

15003551
M6x16 TX30 pan (DIN 7985)

10x25 6K
Screw, M10x25 DIN933 6K, ElZn

13x20x6,4
Spacer U-709

13x20x10
Spacer U-710

4,2x16FLS Black 
Selftapping Screw

4,2x13 S
Platescrew flathead Black Needlepin

15001584
Distance Sleeve D20 d13 h15

15016947
4,8x25 Selfdrill CS RW25 Elz

15004714
Washer 4,8x23x2mm Black

15009916
Washer 30x13x3 Elz

15004713
M8x50 Screw 6K Black DIN933



7

15017989 Supplement One-eye Latch Kit SF T6

15017958 Fitting Kit SF T6 for Vehicles w single latchscrews

Item Quantity Part Number Description
E3 1 15001595 M10x50 Panh UNB Black
E4 1 29,5x11x2,5 Stoppskive M10 DIN 9021
E5 1 6794 Fixation Eye BHF

Item Quantity Part Number Description
E3 6 15001595 M10x50 Panh UNB Black
E4 8 29,5x11x2,5 Stoppskive M10 DIN 9021
E6 2 10x30 UNB sort Maskinskrue Panhode

E5

E6

10x30 UNB sort
Maskinskrue Panhode

E3

15001595
M10x50 Panh UNB Black

E3

15001595
M10x50 Panh UNB Black

E4

29,5x11x2,5
Stoppskive M10 DIN 9021

E4

29,5x11x2,5
Stoppskive M10 DIN 9021

x
xx,x

Are measures for Measurement report
Are critical measures

6794
Fixation Eye BHF



8

1. 2.

3.

5.

4.

Box

x6
Old type:

New type:

Box

F8 2x

Approved  by LOYDS LApproved  by customer
Gen. Tol.: Loyds MS 001

H

C1

L&R



9

6.

7. 8.

9.

LH

2345

L d I d tGen Tol : Loyds MS 001

A

C1

C1

F10 2x

F11

4x

C6

F10

F9

x2

C2

10. 

RH RH



10

11.

12.

13. 14.

F7

12345

L&R

A

B

C

D

Drawing number

Approved  by LOYDS Loyds Industri AS

Creation date Designer / ConstructorProject

Description

SARPSBORG
Approved  by customer
Gen. Tol.: 

EGL24.11.2022

Loyds MS 001

Smartfloor 2020  
Drafter

Sheet thickness: 
 

Material:
 

Colour:
  
Weight:

F7

F7

F7 2x

2x

3x

C5

C5C7

F10

F10

C8

F11

F11

C2C1

F7
2x

F7
3x



11

15. 16.

17. 18.

19.
23456

Loyds IndustrGen Tol : Loyds MS 001

LHLH
F7

B1

B3

B2

B4

F7

6x

4x

C4
C4

B7

C4

C4

C4

1

5
2

3

4

Asse
mbling:

RHRH



12

21. 22.

23.

20.

24.

2345

Approved  by LOYDS Loyds Industri 
SARPSBORG

Approved  by customer
Gen. Tol.: Loyds MS 001

12345

Approved  by LOYDS Loyds Industri ASApproved  by customer
Gen. Tol.: Loyds MS 001

12345

Loyds Industri AGen. Tol.: Loyds MS 001

B6

F5

30x

B5

7x

F12

F12

6x

RH

2345

Approved  by LOYDS Loyds Industri 
SARPSBORG

Approved  by customer
Gen. Tol.: Loyds MS 001

23456

Box

F3

F9

F6

F9

F1

B
F6

F2

F2

Box

F3

F3

F9

F6

F9

F1

A

F6

F4

F2B

B

B


